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Question Booitlet Series —C

St R

No. Questions

1| T Fawor wade A 100 % FRd wfsr Ay 9 0.1 & @ Rur afer A, &
3O CMRR &7 872 _
A differential amplifier has a differential gain Ag of 100 and common mode
gain A.of 0.1, What is its CMRR?
(A) 10 dB
(B} 20 dB
(C) 30 dB
(D) 60 dB

2 | uw @urilg ST 3O wie & @ 10 diecd & 100 pC & @A Fwi HSINT
THAT § A g anlar &1 A gram ‘
A capacitor that can store 100 uC of charge with 10V across its plates has a
capacitance value of
(A) 0.01 uF
(B 0.1 uF
(Cy 10.0 pF
(DY 1.0 uF _

31 afy wEe ar 7 40 ps & 3@ T § ar gadhr argled g
[f a Sine wave has a period T of 40 ps, its frequency is
(A} 40 kHz
(B} 250 kHz
(C} 25 kHz
(B} 2.5 kHz

4 |L & URa 8 & &Y o LC YRy & 3l 3Eicd &l I Fa & o,

TAT i AT TET
To double the resonant frequency of an LC circuit with a fixed value of L, the

capacitance must be

(A) W& Y ®H FAT / reduced by one quarter
(B) 3mem %A AT / reduced by one-half

(C) o= =LeTt / doubled

(D) =g &7 / quadrupled
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L

Ay Fselt A el A e F 3 ders T &7 7 afamfra R ovar §odr
AT L gl
li the number of turns in a coil is doubled in the same fength and area, the

inductance L will .

(A) g¥=T / double

(B) =g+ / quadruple

(C} WHAT I5dT § / remains the same
(D) 3TeT 8 ¥/ be cut in half

6 | st fpeey &
Motch filter is
(A) d39F fhect / Band pass filter
(B) o= 9t fiieed / Low pass filter
(C) =g 9R% MWheeX / High pass filter
(D) &3 @i fhect / Band stop filter
7 1500 Hz & Agee Hgfed dum 10 kHz & smgfcq fowem @fga o 3mgficd
FISTerd Tehel & AIGAA GHHH F4T g7
What is the modulation index in a frequency modulated signal with a
modulating  frequency of 500 Hz and frequency deviation of 10 kHz?
(A) 10
(B) 20
(Cy 25
(D) 50
8 | Wodrdes! URT AT Alecdl @ Hod OIER A9d 9T dc F AN F AT WAW

9T JarET BT §, I __FEd ©

The value of alternating current or voltage that has the same heating effect as

a corresponding dc value is known as

(A) @R AT/ peak value
(B} @y & WX de & &7 / peak to peak value
(C) 3ilerersT AT / average value

(D) rms AT / rms  value
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o | ¥t o R e I
| Battery cells are connected in series to
(A) O &THT 9& §q / increase the current capacity
(B) MFcYe dlecdl H dald §< / increase the output voltage
(C) AR WIERIET #I %o &7 g / decrease the internal resistance
(D) 3M3cYe decdl H FH F3+ g / decrease the output voltage
10 1120 Q & AT S Ry, & Wind ¥ & [T 360 Q Waller & 619 FAAER &
fordey afasiet =t Ss=r grem?
How much resistance must be connected in parallel with a 360 Q resistor to
obtain an equivalent resistance Req of 120 Q ?
(A) 180 Q
(B) 460 Q
(C) 1.8 kO
(D) 320 Q
11| droma e, & gea o, s &
The main advantage of CMOS is its
(A) 3= 5T Aol / High power rating
(B} o e waTelel / Small signal operation
(C) Tea=isT &THAT / Switching capabiiity
(D) foo=T HaT @9 / Low power consumption
12 | ®AL F dUAT R T o 308 F a0y @yT Far §7

What is the barrier potential of a silicon diode at room temperature?

(A 1.0 V
() 0.3 V
(C) 0.7 V
(D) 1.2 V
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Faforter UReite 521 &7 dorr &, LED & g

As compared to a silicon rectifier diode, an LED has a

(A) ToFAax 3 dlecdr aUl 3=al shersel dieedl/

lower forward voltage and higher breakdown voltage
(B) FaT 3 dlecdl aul AFdl shside alecdl/

lower forward voltage and lower breakdown voitage
(C) 3=ucX 30T diecal a4 3=ac{ s ateedl/

higher forward voltage and higher breakdown voltage
(D) 3ITECR 3T dieedl a7 AFIdy Sehs3a aleedr

higher forward voltage and lower breakdown voitage

HDTV & fore fdeadr e 3
Aspect ratio for HDTV is

(A) 3:2
(B) 4:3
©) 2:1
(D) 16:9

Srecdl FEWFE ¥ ®9 # Y 50T F 39 R s €9

Which diode is used as a voltage regulator?

) R =iz / PIN diode
) Y 3T / Varactor diode
(C) shax 338 / Zener diode
} @A 5418 / Tunnel diode

HAST & 3@l T gfoe WIeT §

Persistence of vision in a human eye is

) wH e & 116at [ 116" of a minute
(B) us &Hs F 1/16af / 1/16™ of a second
(C) vs fa=lc & 1/6ar / 1/6 "™ of a minute
(D)

T e &7 1631 / 16" of a second
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17 | U FET & cielasca, $I9¢ dlecdl fha oig 9amd &7 & Fr farsor
T '
Transconductance in a FET indicates how effectively the input voltage controls
the
(A) 3M3cYT arT / Output current
(B) T WiARitrhdr / Input Resistance
(C) 3mgft dreear / Supply voltage
(D) dreear @fey / Voltage gain

18 | faforir @afya Reesny (SCR) &7 T ganT =T fomar AT &
Silicon Controlled Rectifier (SCR) is usually turned on by
(A) % 30T / break over
(B) T fo9x / gate trigger
(C) s=sa+ / breakdown
(D) €T I GROT LA §C / holding current

Y greatas Aol vRied Bt w7 % FEfRT 9 & fARre v &
I9IRT AT §

Ultrasonic diagnostic imaging typically employs a frequency range from
(A) 1 kHz to 15 kHz
(B) 1 MHz to 15 MHz
(C) 1Hz to 100 Hz
(D) 1 GHz to 15 GHz
20 | WFICTEATR HT % oI 39 T S &

Sphygmomanometer is- lised

(A) =3 I #T ST & / for checking blood sugar

(B) T &« T St a¥et / for checking blood pressure

(C) %&T I ugehet &I Al F=T / for checking heart beat
)

ST 3=t / for dialysis
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Afe A U FE "':"é?aﬁmmm%"

Error detection and correction is done

(A) 38 THSNS c@RT alfgd Ft= / by passing it through equalizer
(B) Rheet gary 38 9N U« / by passing it through filter

(C) Tha # vafla FT ¢ / by amplifying the signal

(D) 3= wfARear fact # Sisd gu / by adding redundancy bits

22

PCM #TgeRIT & T8 ITHH ¥
The correct sequence of PCM modulation is

(A) TeieRtor, 9fdads], Fs+ / quantizing, sampling, encoding
(B) o, wis, Wideesl / quantizing, encoding, sampling
(Cy wfd=ast, Ther, g / sampling, gquantizing, encoding
(D) iza, wiewmet, IRfOr / encoding, sampling, quantizing

war%maﬁrq@%aﬁwmwmwﬁwmwﬁ?

Which phenomenon is best explained by the particle nature of light?

(A) =Toerr werrg / Doppler effect
¢rdreyuT / Polarization

]

(B)
(C) wehTRr faggaehra yaTd [ Photoelectric Effect
(D) f3aci / Diffraction

24

T el ¥ oard & A § AR e 1% ¥ oA 3Fw Imaw HOAEE A
If the error in the measurement of the radius of a sphere is 1%, '

then the erfor in the measurement in its volume is

A) 1%
(B) 3%
(C} 6%
(D) 9%

Page 70f 18




Question Boolklet Series —C

23 Eo-llé.u-i W.%sdi%%ﬁaﬁ*%ﬁ?ﬁ@@é‘@mmwaﬁ b=

T ar S AT ¢
Nortan Theorm siates that an entire network connected io a pair of terminals
can be replaced with

(A) ARG H THd dlocal did & U1y U AfeRehdr

a single voltage source in parallel with a single resistance
(B) TAATGR H Udhel ORI T & TRT Tehel FiAEHAT

a single current source in parallel with a single resistance
(C) #@elr # dtocar &l & 2T Tehel AfIRreRdT

a single voltage source in series with a single resistance
(D) 4ol # Tehol URT & F Uehel AT

a single current source in series with a single resistance

26

forel v ARG W FAT AT i Awandt F swaivHE sea & e B
The difference between any one measured value and the arithmetic mean of a
series of measurements is termed as

) T&¥ea / Resolution

B) uRegdr / Precision
) fe=fad / Deviation
)

27

I ARG IR & DA et e goR o Raea wha g()

F TFCH A Feu G F & qRESAT B _, FEd &

The phenomenon of some of the higher frequencies in the spectrum of the
signal g(t) appearing as lower frequencies in the spectrum of its sampled
version is called .

(A) Ta&4ur / distortion
(B) fTeufar / dithering
(C) 3u=wfad / aliasing
(

(D) FaeHRIOT @ / quantization noise

Page 8 of 18




Question Booklet Series -C

TF GEAE o, OF T6d dF el oie
A real signal is said to be even signal if

2 % g(t)

- g(t)
g(-t}

g(ty = g(®

I

)
a(t)
)
)

29

oF WaeH [wus 1 {ded 9% TR, 396 FLy B &TFHA §

Resolution Bandwidth of a Spectrum Analyser is its capability

(A) IR T Hgicd JhaT H1 e/
to resolve smallest signai frequency separation
(B) TEHAR Hehd- A & HeX 1 et/
" to resolve smallest signal amplitude difference
(C) TEAH FHeT TOT e & fawest/
to resolve smallest sighal phase difference
(D) FgaH FFAET 3 & e/

to resolve smallest time period difference

BT & Fal] 39 F Trer yogel w9 ¥ oRafda g dr g

The energy of a photon varies directly with its

(A) 3Efed [ frequency
(B) adEd / wavelength.

(C) 7gsTar / intensity
(D) W Hig (o geude) / rest mass

ST SRR # e AR H T ¥ T ReaT ST &

In advanced microprocessors, cache memories are used o

(A) ShOH AT ST F AT Whed @5 & aid F & fow
‘ hold the current active segments of program and data
(B) g #%HHA / boot program

(C) ¥&a Tgel & HSNOT & / store huge files

(D) TERF & $ERUT & / store only constants
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LB

N

VHDL & ‘ASSERT faer &7 WeT = .= faw R oier &
In VHDL, *ASSERT statement is used for

(A) T welrT $r °9woT & foIw / declaring flip flops

(B) AISTE F IHIHROT & N RN FdreAT qur e 6wy F o
reporting warnings and error messages dufing simulation of model

(C) VHDL %3 37 ®2eWoT / synthesis of VHDL code

(D) TEois= F1 Tu= U f=9a / place and route of design

(U]
(UR]

TeH TEIOF A, OEYesEer asg ATy @

In @ microprocessor, the term ‘pipelining’ refers to

(A) TdT FI BT w3 / address decoding

(B) HTAT Tor@am / memory writes

(C) T 3ISW & FASTIES & HAT I AU FT AT FLA
fetching next instruction while the current instruction is executed

(D) 33TEY HAERY 9ar / virtual memory addressing

RS232 Ush / RS232 is a

(A) 3meRET R & forw @iTw s /
serial bus for data communication

(B) 31TersT ¥R & T WA S9 /
parallel bus for data communication

(C) #EH / MODEM

(D) srfera fa=r=or / interrupt controller

mmmﬁﬁﬂﬁf%wﬁ?m%ﬁnm T T HIOET
£ ST g wgTT g

For high speed bulk data transfer in processor based system commonly used

method is

(A) DMA (Eetae #ARY TF0¥) / DMA (Direct Memory Access)
(B) arfera fa=i=or / Interrupt controt

(C) gifelsT / Polling

(D) foreuras Tforeet & SINT 3esr 3feRor

Data transfer through execution register
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V367 g-fe mer S @A 8 WT 9am &9 IfieaA T ST T TR B

A memory with 8-bit data bus and 8-bit address bus can store a maximum of

(A) 256 @15cH / 256 bytes
256 faew / 256 bits

1K ageq / 1K bytes
D} 512 smsed / 512 bytes

FE A U ZUET e 4 Ul ¥ gey qEnr S e o §
By . @edE _
A code in which each decimal digit is represented by a group of 4 binary bits

is

(A) BCD (arzair sigg 3ff#er) / BCD (Binary Coded Decimal)
(B) ¥ @5 / Gray code

(C) TFH 3 Fis / Excess 3 code

(D) ASCIl @15 / ASCH code

VHDL @ig & UREr &1 gmor & faaRor 3ar §

Entity declaration in VHDL code describes

(A) AIEYEr # AT / architecture of the module

(B) FISYW F FIAEH A eAEEIRHAT / timing behaviour of the module

C) Fnsq\ﬁﬂ ELT MIW/ external viewfinterface of thé module
D) =g & fead FaNeT # fdews / maximum propagation delay in the

moduie

(
(

39

VHDL & 7% gfafadRia ser «F i GaERT WIS fRaT ST §

In VHDL, bidirectional data bus is declared

(A) &/ In

(B)
(C) sw / Buffer
(D) % 3¢ / In out
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.40

F13eY fBsg & U g TR Se arel e FdiT o yaRen, fes g5d w7
F JIA 0 AT BT GRS AT §
Propagation delay of flip flops used for counter design largely affects the

speed of operation of

(A} 31qegshIfah (A3} F3+eT / asynchronous (ripple) counter
(B) q:ljcvqchlrc:iqﬂ 39 F3=ed / synchronous up counter

(C) cgwachtmch 313s7 F3wct / synchronous down counter

(D) (tlgcquﬂlmﬁn HY ST3+7 3T / synchronous up down counter

41

The detector that minimizes the error probability is called as

(A) TR FHRISA §EIF / Minimum likelihood detector
(B) 3w waiad Hg@s / Maximum likelihood detector
(C) 3iradsr wanfad == / Mean likelihood detector

(D) wurefems wamfaar Hg=e / Random likelihood detector

42

(A)

(B) 23565
(

(

T Sl iRy Sieeed 10101 & cRoTeid H5T & Yo &

Hexadecimal equivalent of the decimal number 10101 is
15

C) 1010
D) 2775

FTUT HEAT & 3 A Aefad s & fav smaeas gfaemndt few & srftesasn
Sy g

The maximum number of binary bits required to répresent a digit of octal
number is

=

——

,.,
CIGIC:
[T O L I G T 'S |

—_——
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44

S Joad #F, RS 98 W dSed 3Ra B 3aRT e F R 3R &
SralaT FReT ST B "

In an Ethernet network which device is used to forward the packets based on
IP Address '

(A) & / Hub
(B} faer / Switch
(C) frgat / Bridge
(D) W3ex / Router

45

frfaf@d car & ¥ B & 3M3cye 3=d ghn, Ui a7 had §a-gaIde 3=
eufa w8 ar

In which of the following gates, the output is high if and only if all inputs are
high

(A) NOT
(B) XOR
(C) OR
(D) AND

46

AETH S Fed amdled IR Q@ W 99w §fF W WEdd wRd g
®___ #ed g |

The medium which reflects high frequency radio waves back to earth is

(A) 3g=FHEE / lonosphere
(B) . mHRAMHS / Stratosphere
(C) Stg==er / Biosphere

(D) e HHSA / Troposphere

IPv4 Zeic T YT gee & Toe feet Rgw =7 Soiic od s f&ar aar §
forar g & @y Faft Feny & g fRar orar
How many bits internet address is assigned to each host on an IPvd internet

which is used in all communications with the host

(A) 64 TTH / 64 bits
(B) 24 f§cH [ 24 bits
(C) 32 fegw / 32 bits
(D) 16 fSg& / 16 bits
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43

9ad YT FT TUFCHT Teled g

Spectral density of the white noise is

CRE

CAGRC

THROAT /[ Uniform
TETAThT / Exponential
HI3HT / Gaussian
TarE / Poisson

49

9T & LAN & forv IEEE 80211 #\is aanr foeq 95 HEeTH debelles 1 w1
frar a1 am ¥ -

Which multiple access technique is used by IEEE 802.11 standard for wireless

LAN

CDMA
CSMA/CA
ALOHA
TDMA

50

Sghclel & &I HE &
3

The primary function of the multiplexing is

(A)

WINT Fhed o TR faegd o7 @ TR USAY <AeTel T TUT HEAT _
to select one radio channel from a wide range of transmitted signals
Tk AR <ieTer # TR Gohd T anglied 9 & Gy f@eer

to match the frequehcy range of a signal to a particular channel

UF Hehd B SSfAEdR & HH AT

to reduce the bandwidth of a signal

Tehel FER Helel T 3UANT FleT & HeAsh Hahdl @ FAT FLel &l

to allow a number of signals to make use of a single communication

channel

Page 14 of 18




Quesiion Baoklet Series =C

8051 ATHETIF F TH 24 MEz @y &1 oy saeer fear o &, Seaie
AN U 9fg F &g RAT T HRY &l
If a 24 MHz Oscillator is used in 8051 microcontroller, the time taken for

Timer to make one increment

{A) 1 U sec
(B) 2 p sec
(C) 0.5 psec
(D) 0.24 p sec
52 | arferer 3rfdeatad (A+B) (A+C) F T §
Logical expression (A+B) (A+C) is equal to
(A) A+B+C
(B) A+B.C
(C) AB+AC
(D) ABC
53 |'C e w9 fyERor @ gIe T aex Pwas F forv o s 8
The ‘break’ statement in ‘C programming’. is used to exit from
(A) t =fy REror / an if statement
(B) U fore@ / a ‘for loop
(C) vuw Fiwd [ a program
(D) HET () 9 / the main () function
sq | 3R o= 12 mA @3 1y = 0.4 mA Tfoee # & g der gl

If Ic=12 mA and [z = 0.4 mA, the transistor would have a DC beta of

(A) 20
(B) 10
(C) 12
(D) 30
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33

8051 geAf=® + SCON IRy # fae €13 w T AT g
Bit B3 in SCON register of 8051 microconiroller indicates

(A) 83 T =¥ ureg &aT / received 8" Bit
(B) 8d foT I T == / transmitted 8™ Bit
(Cy 99 ToT & UlNT =T / transmitted 9™ Bit
(D) 99 T = wrod Far / received 9" Bit

56

‘C WrenfEeT & I FraE F gany qoith H v weT § aY, Re s
&1 gaer fRar srar g7 .
In 'C programming’, if an Integer is to be entered through the keyboard, which

function would be used?

(A) F1eT() / gets()

(B) =) / getche()

(C) #iwer() / getchar()
(D} ToeAd() / scanf()

37

wlE R gAR A FoTTeHE Tl §

Load current is always negative in

(A) § 9o ¥ BaF / Type E Chopper
(B) & v &% T&ew® / Type C Chopper
(C) & R & T/ Type B Chopper
(D) © 9 & &= / Type A Chopper

58

qEay SLAE H, O & ToIT ‘TUES HIag &7+ gfEafase ey g

‘Collector drift region’ is introduced in Power BJT to

(A) T84 YRT WS T §=10 W@ g / maintain large current gain

{B) W URT % HA F & / reduce base drive current

(C) 30t e & R g5 AT # dlocsl &I sl s g
block large voltage during OFF state
(D) URT TFel T FH FA §q / reduce current crowding
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8051 Fewfevaseh &, Tieet & & T @ o 7y 87

in 8051 microcontrofler, which of the following statements is TRUE?

(A) % Tonad @ HeT 9ar 80H & FAT IF FHaw o v T G Far &
Stack Pointer Direct address is 80H and it is only Bit addressable

(B) ¥ Hehaeh 1 TIUT UaT 90H § T IF dhadl I8¢ T 3N Taha ST &
Stack Pointer Direct address is 90H and it is only Byte addressable

(C) €& Hhdsr & WET 9o 81H & 97 I8 Shad ¢ &7 3 G $Ydr &
Stack Pointer Direct address is 81H and it is only Bit addressable

(D) TF deoheeh &1 WEM 9T 81H & TUT % $97 S15¢ &7 30T Thd o¢ar ¥

Stack Pointer Direct address is 81H and it is only Byte addressable

60

' e

A Preprocessor in ‘C' is

(A) AT Heheld TiHAT R B & Jee F F forsafad wer &g
Thfera wt & faw den
a directive to compiler to perform things before the actual
compilation process staris _
(B) W wiFA % quf g & a5 FA A o ww i g
A & o0 W .
a directive to compiler to—pe'rform things after the 'compilatfon process -
(C) warferT & foTdRr ST S e I s sar &
a directive to the processor which executes the program
(D) *reH & gEaarred 1 g &9 v e e

a commentary statement to enhance the readability of the program
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P a‘cgﬁ/Rough work

1vSi
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